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' ECONOMICS
Full Marks : 80
Pass Marks : 24
Time : Three hours
The figures in the margin indicate full marks
for the questions, .
PART-A (F -wizx)
Q. No. 1 (i-wvi) carries 1 mark each 1x6 = 6
Q. Nos. 2-7 carry 2 marks eaclt 2x6 =12
Q. Nos. 8 -11 carry 4 marks each dx4 = 16
Q. No. 12 carries 6 marks 6x1 = 6
Total = 40
PART-B (% - wex)
Q. No. 13 (1~ 'E)I) Carries 1 I”ﬂ?'k each 1x6 = 6
Q. Nos. 14~ 19 carry 2 marks each 2x6 = 12
Q. Nos. 20 - 23 carry 4 marks eacl _ 4x4 = 16
Q. No. 24 carries 6 marks 6l= M6

Total = 40
Total (PART A & B): 40+40=80
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Define involuntary unemployment.

1
SoETS FRAES el &R
What is effective demand ? 1
Aty izl 2
What do you understand by depreciation of capital ? 1

TS TS A 3@ 2

GNP = GDP -

GNP = GDP -

What is foreign exchange market ?

e A e e

Which of the following transactions are included in
. ne

account of Balance of Payment ?

(Fill in the blank)
1

(Tt 312 25 1)

current
1

ARHigg AVOR BlETo Bk ﬁﬁﬂ%ﬁ%- @W| F0 eSS 570
SRS A RN

(a)

(B)

Import and Export of goods

Import and Export of services

RS S SR Sy

[2]

(¢) Unilateral transfer

GAER TR

(d) All of the above
8IS ASCERIS

(Choose the correct option)

(wa CeFth! qR e

2 VN rite §l1e differences between GDP at market price and GDP at factor cost.
2
3G 1<S GDP WIS ©oive q5e GDP= igw sy ol |
OR /SR«
Write one similarity and one difference between intermediate goods and
capital goods. _ A =2
TS| TR WS T W g5 AT W @5y ARy F
3. What do you understand by ‘Paradox of Thrift ? 2
‘a7 A1 FeTReR s g [ @i
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OR /<191

8. What is investment multiplier ? If a new investment of Rs. 300 crore

What is aggregate supply ? Explain. 2 increases National Income by Rs. 1200 crore, calculate the value of
j AL %? @3 =i | _ investment multiplier. In this case, what will be the value of MPC ?
1+1+2=4
4. Write two differences between direct tax and indirect tax. 2 ‘ ) ' :
' ffFcel v 52 ez 300 @t 59 To9 Rivcies) wista o 1200 (Sl 56
RO TR SR AR I Aew 7o) AL TR : ;
= F0F, (or% R wiz= w7 4970 T | GBrEgs, MPCF 4 [ 292
3. What are the components of Imigh,powered money ? &7 OR /Sl
THETerTE YN ST & 7Y
' : Briefly discuss the components of aggregate demand. 4
OR /<1341
ANEE BT TAMITR el JEN T |
Define Bank Rate and Cash Reserve Ratio. : Tile

@E TE T T FRSF Geoifog AE e 9.  Write differences between the following concepts : (any two) 2+2=

FafERS (R e widky fd ¢ (R 7o)

6. Write fwo differences between Balance of Payment and Balance of Trade.

2 ) (i) Autonomous investment and Induced investment.

ARTHIER Fre] O ANEIR e siel 76! AT G| ' ﬁ !
o weor RS Wi sfsee RGN |

7. Write in brief the ideas of fixed exchange rate and flexible exchange rate. (i) Ex-ante consumption and EX-Post consumption.
(<)
2

; gefifie BHTell Ui (oS TATSI|
e Rt = o ~ARST R 29 4990 051 sy e

1
—

Contd.

32T ECON [4] 32T ECON el




(i1i) Marginal propensit}_r to consume and Marginal propensity to save. : : | - OR/91%41

2N THCSI 2] Tie 2SS T 2ew) | Define the following : ’ [lGTlEE Rt
- were fERTES AKE! ol g

(iv) Marginal propensity to consume and Average propensity to consume.

i (i)  Fiscal Deficit -

Aifes T2CSIE GO T [ SACSIT AR | ‘ eI A
(i) Primary Deficit

10. Discuss four main functions of Central Bank. 4 B

(iii) Planned government expendimre

@R @< HIR0 A A wiEiv o9 |

ARFES DIFR] T
OR /T
(iv) Non-planned government expenditure.
9‘%6@31!3 3 5 5%%}
Explain how commercial banks create credit. 4 o 2 Bl
Fifdfere (@F @@ 19 R g il T | a3 12.  Explain how GDP is calculated using Income method. 6
W (oS TS (HTeg GDP 1991 =1 =g, <1 9 |
11. Discuss the components of Goyernment Budget. | 4 OR /=135y

Discuss the reasons why GDP can’t be used as an index of country’s welfare.

6

5RFIR] AEHE AL S5 4 |

GDP & 7 GRS eyl pe 67 TRR SR RIS PR SCEoa) < |

32T ECON (6] .
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(iv) What is the difference between ‘Labour Force’ and ‘Work Force’ ?

PART-B / -
1

13. (i) Define sustainable development. 1 | \ ‘ o i e Pt S
G . Y Med AL [

Tz SRAAS TRGEl ol :
(v) Mention one similarity of the economic policies adopted by India and

Q= . . - k' ’ ¥ -
(i) During British rule, decay of Indian handicrafts was caused by — Pakistan 1

1 i SR AR sz 79 ST Nfew GB APY CrEd

o *IreTe SReS 2@fime Ao P19l wifes — ' (vi) The ‘Great Leap Forward' campaign in China focused on ~—
' 1

() * Discriminatory tariff policy of the British Government

. IGEE W?I?ﬁ Iz T (Great Leap p_orward)’ ey 44 REoH
e 5t Ftenms o= I iR — i

(b) Competition from machine—madé products : { (1) Privatisation

Tg-Ffife w9 9 FgRe @@ dere Gfesesq

(c)  Change in patterns of demand () Widespread industrialisation
pifema 4268 ARTE T e AR

(d) All of the above (c) Development of services sector

\@o[Eq FHENEN crEl e FHE
(Choose the correct option) " (d) Economic reform
(o7 Cowhr iR Sfaeq) ST Tew
(iii) Tn which year the NITI Aayog was formed ? : I (Choose the correct option)
| SE rece G} 10M
% (NITI) Szl FiF 57 s <1 (22w ¢ \ (27 CGFCo! TR Clersd)
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14.  Mention two major industrial sector reforms in the Indian econo:ﬁy under
the policy of liberalisation, 7 2
= g _:PIQ - o 15 7 o
TASIeRe WIS TR SOy weifes Tt 18T 94 T 75y wwsdl Ao
e 9
OR /%41
Write about lwo positive effects of LPG policies in the Indian economy.
2
SRS SIS LPG Tfex 75 e @r@ied KA 74 |
15. Write two merits of GST. 2
GST-1 7/ 7Rl 72 |
OR /7271
What is demonetisation ? Mention one positiVC effect of demonetisation in
the Indian economy. 2
g 50 ey Moo Rgmms b7 FAI9E 287 S <5 |
32T ECON [10]

16.

7

32T ECON

What is structural composition of an ecoﬁomy ? As on 2021, which sector

contributed highest to the GDP of India ? . 141=2
RGO Jufefes qieq 2 2021 oo iG] 493 ©iKes GDP 5 s

e @MAR?

OR /=12t

N

Write two characteristics of small-scale industries.

- =y SOOIE 70 (g &

Write fwo differences between economic infrastructure and social

infrastructure. 2
T SR e AT s o7 AT &
}
OR /93]
Write about fwo problems faced by the power'scctor in India. 2
iwed W 9% wwgdi @ 07 e R e
[11] Contd.




18. Write any fwo measures undertaken by the Government of India to

imprové agricultural marketing. S | 2

IR TG ITT TR AE SR IicE 42 TR [ 7hf ovewet Fh

OR /G241

What do you understand by diversification of agl‘iqulture ? 2

19. What are the three main approaches yndertaken by Government bf e

to alleviate poverty ? . D)

viREe] FRIECE A SIS bR A =y 7@ e [ORE K [
OR /&gt

Write a short note on MGNREGA. 2
MGNREGA-= fRaca 50 <61 (1! foru |

32T ECON [12]

20. Discuss the goals of pI.annil%g in India. ' ‘ | 4
SRS AR SUpeE ST
OR /<127y
Briefly discu'ss Lwo positive and two negative impacts of Green Revolution.
2+2=4
FeT R 70 S i 700 ﬁmw ofos REE HaGe SiEnal 9 |
1. Write a comparative note on the demographic indicators for India, China
and Pakistan. . 4
AR MR e e o, 57 o g 9 gameEe
(G dE© 9 | -
OR / £
(i) Write fwo reasons for rapid economic development in China. 2
SR &S Setafes KT 75 wige Bl
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(i)  Write two reasons for slow economic growth in Pakistan. 2
2N T2 OASS e w5y <=6l w0
Write about different types of unemployment. 4

e L

s ey e /R B

[s economic growth, a cause of enyironmental degradation ? ]ustify your

ANSWET. 4

<

(= — e : e - Sy = = 4l
AT TRAN AR {98 (RRIR @) Fjge (V% 2 (OIS U6IR Ao Ifegae

OR /3241

(i) Write fwo causes of global warming.

N

ey TRe! giw 70 TR By

(i) Suggest two measures for attaining sust'amable'developmgnt i ridia.

S onf3 1
ClAETHe qEsl CRA HCT AR phy 2/ So=_p; |
, y b

ECON [14]

I
-

What is organic farming ? Discuss its merits and demerits. 1+5=6

ks ‘C:i% 2 2= 'fli%kﬂ < @{ﬂa%}'ﬁg SICeTib] <9 |

OR /<121

What is Human Capital ? Discuss the sources of human capital formation.

1+5=6

T A 2 TG e oioNs CSPHE SitsibAl <4 |
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